AOP B [ we FAPEE AT |F3EEATIR| FEEART |FL2EEATE
Suxyy P FAok | F=TAVRKRE | FHERE | FMTANKRE| FERS

1 & iEER A IEE 1392 150 42 600 600
1 FRRGIEVN gk LA 1392 150 42 600 600
3 EERCILYN B FHE 1020 600 420
3 & LalEAR TR 1020 600 420
5 ' mER eSS 990 420 270 150 150
5 NTT R&D AIE FISF 990 420 270 150 150
7 HA L JER T i 780 90 150 270 270
8 HSJEAR N 690 150 270 270
8 HLTC &l 2 690 270 420
10 HLTC A & — 660 90 150 420
11 2vh, A IIEEXA 630 270 90 270
11 T.O.P HA B 630 270 90 270
13 BRETC /NG 600 600
13 BJETC /L FE 600 600
13 NTT R&D 15K & 600 90 150 90 270
13 NTT R&D ek A 600 90 150 90 270
17 JEARHKE Al BE 510 270 150 90
18 HLTC A fE 420 150 270
19 EERCILYN ] ZEth 342 150 150 12
19 & LImEA EiE 5k 342 150 150 42
21 HEARTC PN 330 90 90 150
22 JEAKHKFE £ K i 312 90 42 90 90
22 JERKHKE K & 312 90 42 90 90
24 FxlL oY AR FEA 282 90 42 150
24 FxlL LY A B2 282 90 42 150
26 FAAavh A E 270 270
26 FAAR avh Gk oAt 270 270
26 BIEATC TR E— 270 270
29 HAZJEKR IS 240 90 150
29 HETY 7K fd 240 150 90
29 HIET Y g T = 240 90 150
29 BIEATC R 240 90 150
33 HPETY AR fEK 234 150 42 42
34 F ¥ ATC /MR Fli— 222 150 30 42
34 T AT L2 222 90 42 90
34 7Y JfF SE— 222 90 42 90
37 HOETC A0 E—RF 216 42 42 42 90
37 HOHETC BN 5 — 216 42 42 42 90
39 F AR gy 2V FHE 200 200
39 FAXL 3y SR KA 200 200
39 FEARTC TP R 200 200
39 HIETZ K4 TE— 200 200
43 HETY & B 192 42 150
44 HET & H E5L 182 140 42
45 HETY LR Peid 180 90 90
45 HIETZ AR 180 90 90
45 F L ATC AT Bk 180 150 30
45 tv b, AV du)1] = 180 90 90
45 b A FIAT 6 180 90 90
50 HPET Y IR S 174 42 90 42
50 JE AR T £ 1IE5L 174 42 42 90
50 JE AR T B 5LAH 174 42 42 90
50 F L ATC It E 174 42 42 90
50 F ¥ ATC B 174 42 42 90
50 HOETC fa)ll E 174 42 42 90
50 HOHETC TR B 174 42 42 90
50 T RN 174 42 42 90
58 NTT R&D KA IR 7503 168 42 42 42 42
58 NTT R&D RV #aas 168 42 42 42 42
60 HLTC A L RER 150 150
60 Fvbh AV i)l Ha 150 150
60 HLTC A WK 150 150
60 JEARHKE T AT 150 150
64 HIETZ B — 140 140
64 Joa— fAH FE— 140 140
64 Voa— A H- 140 140
67 NTT R&D S FaE 132 42 90
67 FxLo Y — [ E 132 90 42
67 Fxl Y I 1 F] 132 90 42
67 2ob A PO il 132 42 90
67 NTT R&D S 857 132 90 42
67 HOHETC A —Z 132 90 42
67 HOHTC IEE= 132 90 42
67 2vb A i WL PRV 132 42 90
67 T 8= =15 132 42 90
76 HPETZ T e 126 42 42 42
76 & EImEA FRH R 126 42 42 42
76 & LImEAR BRI FETR 126 42 42 42




AOP T RE w4 s FASEIEART |FAEEARTER| F43EEART |FL2EEARTE
Sy & Aok | P—FARKE | FHEAE  |[MFATLAR| FHEAS

79 HPETY JENE 114 42 30 12
79 2vh, A B =4 114 42 30 42
81 HETY Ky Tk 106 14 42 50
82 HETY /PR — I 98 42 42 14
82 HETY A WU 98 42 42 14
82 NTT R&D [EIEnED 98 42 14 42
82 TV wA Bl 98 42 14 42
82 7Y AL 98 42 14 42
87 FAA 3y VR I 92 50 42
37 F AR =y T i 92 50 42
87 FAA 3y Tl 352 92 42 50
37 FAR T & K 92 42 50
37 ESINE ENERE 92 42 50
92 F AR avh RIS 90 90
92 FAA 3y T 90 90
92 HIET Y FESEYE 90 90
92 JEAREFETC % K 90 90
92 JEAREFETC (B N 90 90
92 F ¥ ATC VERk T 90 90
92 F ¥ ATC EEIE S 90 90
92 BIEATC B P 90 90
92 HLTC st HAF 90 90
92 HLTC T I 90 90
92 HLTC RPE ] 90 90
92 HETY BRI =5 90 90
92 2vh A Ry JE— 90 90
92 Fxl)— T O 90 90
92 Fl— 1] 3] 90 90
92 F ¥ ATC &1L A 90 50 40
92 F ¥ ATC AR 5 90 50 40
92 HETY o g 90 90
92 2vh AV IIEE 90 90
92 JEKHKE EiE D 90 90
112 T.0.P JRH Fi1T 84 42 42
112 A N [if] FH Fn 5 84 42 42
112 Lvh, A AR 4t 84 42 42
115 tv b, AV I 55— 72 30 42
115 tvb A FA[E fi] 5.4 72 30 42
115 Y =—JEK A e 72 30 42
118 b, AV L T R 70 14 42 14
118 AH—TC AL b 70 30 40
118 AH—=TC N B 70 30 40
121 rvb, AV SFP AR 64 50 14
121 Lybh, A~ BT Z&5L 64 50 14
123 Voa— A% R 62 42 10 10
123 Voa— R E#] 62 42 10 10
125 JEAREFETC U & 56 14 42
125 HAZJEK i 5 56 14 42
125 T BRIE AUPE 56 14 42
125 T /NI RTE 56 14 42
129 FAXL 3y TH BB 50 50
129 FAA =y Vejgg 3 — 50 50
129 L8, (£ JIF F 50 50
129 EH), e EH Hh 50 50
129 L8, (£ g EA 50 50
129 Lvh, AV JEIL 2 50 50
135 Ly h, A~ 1 EA IR 44 30 14
135 L h, A AT 44 30 14
135 tv b, AV JILE 5] 44 14 30
135 7L ANTC oo R 44 14 30
135 FEESUIEYN Na FEZ 44 14 30
140 A4 TC il Ak 42 42
140 HIETZ JTF BER 42 42
140 HEARTC RS 42 42
140 2vb A HiiE mR 42 42
140 DN R PR 42 42
140 NTT R&D Ve SEhg 42 42
140 Y =—JEK 4> OBEER 42 42
140 18, (£ S —& 42 42
140 ENAEYN VRH E 42 42
140 7L ARTC A BEsl 42 42
140 HMETY K £t 42 42
140 HIETZ Wi B 42 42
140 T LARTC ey L 42 42
140 HETY fEH S E 42 42
140 HETY e B 42 42
140 V=—J5 R IEAE 42 42
140 HIEARTC =JF 5 42 42
140 FxlL oY LRI (51T 42 42




AOP - we FASEIEART |FAEEARTER| F43EEART |FL2EEARTE
Suko s PR i Bk | F—FAkkR | FHEAR | M—TARKR | AR
140 Fvbh AV i 42 42
159 JEAR T T EN HEIG 40 40
159 TE R PN 40 40
161 FrlLv Haks 32 14 18
161 Fxloy Al 32 14 18
163 Fxl Y W 95 31 18 3 10
164 V=—EK B2 LEIT 30 30
164 NTT R&D AT KIE 30 30
164 NTT R&D R =ik 30 30
164 FxLry ks 30 30
164 FxLoY R 30 30
164 T.0O.P Bl KF0 30 30
164 T.0O.P O IRt 30 30
164 FAZT avh i IE A 30 30
164 FAA 3y = H = 30 30
164 Fxl Y B Al 30 30
164 FyxL oY H R 30 30
164 FxLoT A 52 30 30
164 L8, (1 L IE iR 30 30
164 1E8), e IR 30 30
164 7L ANTC e K AEN 30 30
164 Fxl)— eI B — 30 30
180 HETY L LA 28 28
180 HETY i AR 28 28
180 v h A T Y 28 14 14
180 FHEDOHETC e B— 28 14 14
180 HROEBETC HAR IEE 28 14 14
180 FHDOHETC =TS 28 14 14
180 HOETC JEH A 28 14 14
180 1E8), TE(E BA 5 28 28
180 EF, fFEE KR EH 28 28
180 HEATC b5 i 28 18 10
180 UNETY {HA E4h 28 28
180 B A BhE 28 28
192 FxlL oY EiE R 24 18 6
193 Frl LY /s B 21 18 3
194 FyxlL Y T BT 18 18
194 FEARTC JEIT fh— 18 18
194 AH—TC AHET % 18 18
194 AH—TC AT H 18 18
194 2ZH—TC N R 18 18
194 AHZ—TC e HER 18 18
200 ENAERN [ iy 1% 17 14 3
201 Frl T [ 55 BRI 16 10 6
201 FxlL oY il &+ 16 10 6
203 HPET Y i 14 14
203 HPET 1 T A 14 14
203 F L ATC Pl fE 14 14
203 F ¥ ATC EEESS 14 14
203 EARERTC ARAT IEE 14 14
203 JEARERETC Sl B 14 14
203 HOETC T 14 14
203 HOHETC — Vs 7ZW 14 14
203 HETY B A 14 14
203 HPET RPN 14 14
203 HEARTC =B 14 14
203 BIEARTC ik FE R ] 14 14
203 Good shot I K — 14 14
203 & LisER /NP I 14 14
203 T )l & 14 14
203 7Y HAL #7h 14 14
203 HPET H A E A 14 14
203 HIETZ JH AR % 14 14
203 HEET T 14 14
203 NTT R&D A 2R 14 14
203 JEARHKE 8 5 14 14
203 JEARHKE HPIFY F5 14 14
203 =——JE K FEE B2 14 14
203 V=—JEK g & 14 14
203 Voa— ZEH IEA 14 14
203 Va— FIH 2R 14 14
203 HOHTC R 14 14
203 HOHETC HH ik 14 14
203 V= —JE R WA F=H 14 14
203 V=—JEK T A 14 14
203 7L ANTC B 2N 14 14
203 F L ATC gk 1= 14 14
235 FxLoY E=T 13 3 10
235 FrlL oY INCE 13 3 10




AOP B B4 we EASEE AT |BEEATR| BEEAT |HL2EEATER
Suxyy P FAok | F=TAVRKRE | FHERE | FMTANKRE| FERS

235 Fyl Y 3 B 13 3 10
238 HAZJEK IR 2250 10 10
238 ENAEEN ZH thix 10 10
238 FyxL oY WEIRT 5 B 10 10
238 FVALTC Nk 1E(E 10 10
238 AVALTC JNpE B 10 10
238 Fxl Y S S 10 10
238 EF, £ B I =th 10 10
238 1E%h, {E(E R % 10 10
238 HROETC AT FEIE 10 10
238 1E8), TE(E P BB 10 10
238 EF, £ ilIIEE 10 10
238 TE8), e AT FHAEH 10 10
238 [HIEATC NEFH B — 10 10
251 1E8), TEfE [ A5F 6 6
251 JEAREEETC i AR FH 6 6
251 FyL Y N B 6 6
251 FxLoY i 1 — 6 6
251 1E8), TE(E HEAY in 6 6
251 L8, (1 EER & 6 6
251 TE8), TE(E B R 6 6
251 L8, (L T 6 6
251 TE8), e KE HHg 6 6
251 JEAREBETC KE EK 6 6
251 EH), e AR Hhth, 6 6
251 L8, (£ JES 6 6
251 Frl D BT B 6 6
264 HPET IR Fn7z 3 3
264 8, KAE B 3 3
264 FxlL oY B A 3 3
264 FyLY YR fe 3 3
264 L8, (£ I HER 3 3
264 EH), 70 Ve e KX 3 3
264 L8, (£ B ek 3 3
264 EH), e B B A 3 3
264 L8, (£ Bl & 3 3
264 EH), 7 i 1EZ 3 3
264 Fxl— MEEAR K 3 3
264 Frl— AR 3 3
264 EH), /N fE— 3 3
264 EH), e ZH Ek 3 3
264 L8, (£ Ly #3% 3 3
264 EH), 7 —5 B2 3 3
264 V) =—JEK W EE 3 3
264 Fxlo )1l B 3 3
264 FxlL Y i fIE C 3 3
264 1EH) (1 N EV 3 3
264 18, (£ T FuER 3 3
264 HOHTC T O R 3 3
264 18, (£ mA R 3 3
264 AL —TC v AR 3 3
264 2% —TC KA [l 3 3
264 EH) fEfE INCPN 3 3




